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Ideals for irreducible component#ﬂ)f Xpar

I = +u®? 4+ =203+ 1)

* 1 irreducible components of dim¢ = 0, with total 23 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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LIF=(u®4+u?2+... —2u®+1)

(i) Arc colorings

w- (1)

1
ag = 0
1
ag = _u2
u
as = \ —ud +u
—ud 4+ 2u
as = \ —ud+u
—u?+1
ar = \y* —2u?
ub —3ut +2u%+1
a7 = —u8 4 4ub — 4yt
wl” — 8ut® + 25u!3 — 36wt + 19¢? + 4u” — 2u® — 4ud +u
ag = \ —u + 9yt — 32ut® + 55u3 — 43u + 9u® + 4u® —ud +u
—ul0 4 508 — 8ub +3ut +u+1
az = —u10 4+ 448 — 5ub + 2ut — 2
—ul0 + 508 —8ub + 3ut +u+1
az = —ul0 4 448 — 508 + 2ut — 2
(ii) Obstruction class = —1

(iii) Cusp Shapes = —4u?° + 36u!'® — 4u!7 — 132u!6 + 32u!® + 24401 — 100u!3 —
220u'? + 144ut + 60u'? — 80u? + 24u® + 4ub — 12u® — Su* + 20u® — 4u? + 2



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
“ uP® +u* - —8u—5
C2,Cq uP -4 4 2u—1
€3, Cg, Cyg uB w22t -1
Ca uP 3+ dut 1
& uB 11 4 -2 -1
€7 u? —5u? o 32u—T7




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
1 Y — 5y*? 4+ 264y — 25
c2, Cg yP 11y 4 27— 1
€3, C8, Cg y? =21y - —6y° — 1
Cy y23_y22+.._+4y_1
C5 y23+3y22+._4y_1
€7 Y 4+ Ty 4 — 404y — 49




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y=1CS)

Cusp shape

u = 1.070060 + 0.1822031

—1.02537 + 3.605801

1.11445 — 4.488581

u = 1.070060 — 0.1822031

—1.02537 — 3.605801

1.11445 + 4.488581

u = —1.15018

1.95316

5.52610

u= 0.285113 4 0.7037451 —2.00141 4 7.027771 0.43599 — 7.340391
u= 0.285113 — 0.7037451 —2.00141 — 7.027771 0.43599 + 7.340391
u = 0.625021 + 0.3360591 —0.61995 — 3.262421 3.19624 4 2.268151
u = 0.625021 — 0.3360591 —0.61995 4+ 3.262421 3.19624 — 2.268151
u = —0.284234 + 0.6303661 0.22041 — 2.292241 3.82667 + 3.818931
u = —0.284234 — 0.6303661 0.22041 + 2.292241 3.82667 — 3.818931
u = 0.143415 4 0.6709931 —3.74248 — 0.30335] | —3.41146 — 0.404801
u = 0.143415 — 0.6709931 —3.74248 4- 0.303351 | —3.41146 + 0.404801
u = —1.347540 4 0.2518641 0.95696 — 3.024761 1.87787 + 2.216091
u = —1.347540 — 0.2518641 0.95696 + 3.024761 1.87787 — 2.216091
u = —0.405548 4 0.4140271 1.014040 — 0.9467261 6.43633 + 4.333101
u = —0.405548 — 0.4140271 1.014040 4 0.9467261 6.43633 — 4.333101
u= 141968+ 0.169031 6.78087 4 3.162341 9.66460 — 3.466891
u= 141968 — 0.169031 6.78087 — 3.162341 9.66460 + 3.466891
u = —1.42608 + 0.119501 5.64121 4 1.736361 7.79313 — 2.465901
u = —1.42608 — 0.119501 5.64121 — 1.736361 7.79313 + 2.465901
uw= 141107 + 0.249001 5.63952 + 5.524061 8.27222 — 3.521571
u= 141107 — 0.249001 5.63952 — 5.524061 8.27222 + 3.521571
u = —1.41586 + 0.276351 3.43142 — 10.595801 5.03092 + 7.477881
u = —1.41586 — 0.276351 3.43142 4 10.595801 5.03092 — 7.477881




II. u-Polynomials

Crossings u-Polynomials at each crossing
€1 uP+uP+ —8u—5
c2, Co u? —u? 4+ 2u—1
€3, C8, Co uB — w20 1
€4 u® 4+ 3u* 4+ du+ 1
5 u? 1 4 - 20 -1
7 u® —5u*? 4+ 32u—7




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
€1 y? — 5y?? + ... 4 264y — 25
€2, Ce yB 1y -2t -1
€3, 8, Co Yy =21y 4+ — 6yt -1
cq yB 2 dy—1
Cs v 3y 4 Ay —1
cr y? + Ty* + - — 404y — 49




